School District Name	Free/Reduced %	E-Rate Discount %	TEACH Rimbursement %	Membership (Enrollment)	Maximum Award ³
Adams-Friendship Area	87%	85%	15%	1511	\$60,000
Albany	37%	70%	30%	456	\$30,000
Algoma	49%	70%	30%	753	\$30,120
Alma	36%	70%	30%	234	\$30,000
Alma Center	62%	80%	20%	549	\$30,000
Almond-Bancroft	54%	80%	20%	440	\$30,000
Amery	42%	70%	30%	1622	\$60,000
Argyle	38%	70%	30%	290	\$30,000
Ashland	64%	80%	20%	2205	\$60,000
Athens	38%	70%	30%	446	\$30,000
Auburndale	34%	60%	40%	766	\$30,640
Augusta	54%	80%	20%	605	\$30,000
Rugusta Baldwin-Woodville Area	23%	60%	40%	1692	\$60,000
Sangor	37%	70%	30%	626	\$30,000
Sarneveld	16%	50%	50%	423	\$30,000
Bayfield	100%	85%	15%	442	\$30,000
eecher-Dunbar-Pembine	61%	80%	20%	242	\$30,000
elleville	22%	60%	40%	953	\$38,120
Belmont Community	31%	60%	40%	376	\$30,000
Benton	36%	70%	30%	247	\$30,000
Berlin Area	49%	70%	30%	1579	\$60,000
Sig Foot UHS	38%	70%	30%	510	\$30,000
Birchwood	54%	80%	20%	220	\$30,000
Black River Falls	55%	80%	20%	1737	\$60,000
Blair-Taylor	46%	70%	30%	661	\$30,000
Bloomer	39%	70%	30%	1301	\$52,040
Bonduel	38%	70%	30%	828	\$33,120
Bowler	65%	80%	20%	407	\$30,000
Brighton #1	15%	50%	50%	117	\$30,000
rillion	32%	60%	40%	908	\$36,320
Brodhead	44%	70%	30%	1036	\$41,440
Bruce	66%	80%	20%	503	\$30,000
Butternut	55%	80%	20%	152	\$30,000
Cadott Community	46%	70%	30%	850	\$34,000
Cambria-Friesland	48%	70%	30%	395	\$30,000
Cambridge	19%	50%	50%	904	\$36,160
Cameron	42%	70%	30%	940	\$37,600
Campbellsport	23%	60%	40%	1364	\$54,560
Cashton	38%	70%	30%	600	\$30,000
Central/Westosha UHS	15%	50%	50%	1129	\$45,160
Chequamegon	59%	80%	20%	783	\$31,320
Chetek-Weyerhaeuser	48%	70%	30%	1068	\$42,720
Chilton	40%	70%	30%	1073	\$42,920
Clayton	65%	80%	20%	318	\$30,000
Clear Lake	44%	70%	30%	615	\$30,000
Clinton Community	65%	80%	20%	1015	\$40,600
Clintonville	47%	70%	30%	1313	\$52,520
Cochrane-Fountain City	35%	70%	30%	579	\$30,000
colby	60%	80%	20%	1034	\$41,360
oleman	42%	70%	30%	725	\$30,000
olfax	48%	70%	30%	814	\$32,560
olumbus	30%	60%	40%	1289	\$51,560
ornell	61%	80%	20%	437	\$30,000
Crandon	61%	80%	20%	901	\$36,040
Crivitz	50%	70%	30%	774	\$30,960
Cuba City	34%	60%	40%	635	\$30,000
Cumberland	49%	70%	30%	939	\$37,560
Darlington Community	45%	70%	30%	864	\$34,560
Darlington Community De Soto Area	48%	70% 70%	30%	864 564	\$34,560 \$30,000

Dodgeland	Denmark	23%	60%	40%	1493	\$59,720
Dodgeville						
Dover #1 18% 50% 50% 95 \$30,000 Drummond 54% 80% 20% 30% 994 \$33,750 Edgar 34% 60% 40% 620 \$30,000 Eleva-Strum 43% 70% 30% 664 \$30,000 Eleva-Strum 43% 70% 30% 450 \$30,000 Eleva-Strum 43% 70% 30% 450 \$30,000 Eleva-Strum 48% 70% 30% 450 \$30,000 Eleva-Strum 48% 70% 30% 450 \$30,000 Eleva-Strum 50% 70% 30% 450 \$30,000 Eleva-Strum 50% 70% 30% 450 \$30,000 Eleva-Strum 50% 50% 200 \$30,000 Eleva-Strum 50% 50% 20% 50% 30% 769 \$30,760 Eleva-Strum 50% 50% 40% 769 \$30,760 Eleva-Strum 50% 50% 40% 523 \$30,000 Fernimore Community 45% 70% 30% 765 \$30,000 Fernimore Community 45% 70% 30% 765 \$30,000 Fernimore Community 45% 80% 20% 617 \$30,000 Fortana 18 7666 40% 153 \$30,000 Fortana 18 7666 40% 153 \$30,000 Fortana 18 7666 40% 153 \$30,000 Eleva-Strum 50% 50% 50% 50% 50% 50% 50% 50% 50% 50%	•					
Drummond Drummond Drummond S4N 80% 20% 388 \$30,000 Drumad-Arkansaw 40% 60% 40% 620 \$30,000 Elekar Eleya-Crum 43% 60% 40% 610 620 \$30,000 Elew-Strum 43% 60% 40% 1112 \$44,480 300,000 Elew-Strum 40% 1112 \$44,480 30% 60% 40% 1112 \$44,480 30,000 Eleworth Community 29% 60% 40% 1143 \$50,000 Eleworth Community 29% 60% 40% 1743 \$50,000 Elemondorth Community 27% 60% 40% 1743 \$50,000 Elemondorth Community 45% 50% 50% 50% 50% 50% 50% 50% 50% 50% 5						
Durand-Arkansaw 40% 70% 30% 994 \$39,760 Efelar 34% 60% 620 \$30,000 Eleva-Strum 43% 70% 30% 664 \$30,000 Elk Mound Area 34% 70% 30% 450 \$30,000 Elkhart Lake-Glenbeulah 38% 70% 30% 450 \$30,000 Elinword Community 29% 60% 40% 1743 \$50,000 Elinword Community 29% 60% 40% 230 \$30,000 Frin 15% 50% 50% 230 \$30,000 Frin 15% 50% 40% 523 \$30,000 Frin 15% 50% 40% 523 \$30,000 Frin 15% 50% 40% 523 \$30,000 Frin 15% 80% 20% 617 \$30,000 Fraid Creek 20% 80% 20% 524 \$30,000 Galace El						
Edger 34% 69% 40% 620 \$30,000 Elew-Strum 43% 60% 40% 614 \$30,000 Elew-Strum 43% 60% 40% 1112 544,830 Elew-Strum 43% 60% 40% 1112 544,830 Elew-Strum 43% 60% 40% 450 530,000 Eleworth Community 29% 60% 40% 1743 560,000 Eleworth Community 29% 60% 40% 334 530,000 Eleworth Community 29% 60% 40% 334 530,000 Eleworth Community 29% 60% 40% 769 530,000 Eleworth Community 45% 60% 40% 523 530,000 Eleworth Community 45% 60% 40% 523 530,000 Eleworth Community 45% 70% 30% 765 330,600 Fall River 30% 60% 40% 617 530,600 Fall River 50% 60% 40% 133 530,000 Fall River 50% 60% 40% 133 530,000 Fall River 50% 60% 40% 1455 1465 535,600 Fall River 50% 60% 40% 1465 535,600 Fall River 50% 60% 40% 1465 535,600 Fall River 50% 60% 40% 538 530,000 Fall River 50% 50% 50% 50%	Durand-Arkansaw					
Elew-Strum						
Elihart Lake-Glenbeulah 38% 70% 30% 450 530,000 Elimwood 48% 70% 30% 334 550,000 Elimwood 48% 70% 30% 334 530,000 Erin 15% 50% 50% 230 530,000 Erin 15% 50% 50% 230 530,000 Frin 15% 50% 50% 20% 617 530,000 Frin 15% 50% 50% 20% 524 530,000 Frin 15% 50% 50% 20% 524 530,000 Frin 15% 50% 50% 20% 524 530,000 Glide-Etrick-Trempealeau 25% 60% 20% 524 530,000 Glide-Etrick-Trempealeau 25% 60% 20% 538 530,000 Glide-Etrick-Trempealeau 25% 60% 20% 589 530,000 Glide-Etrick-Trempealeau 25% 60% 20% 580 580 580 580 580 580 580 580 580 580	Eleva-Strum	43%	70%	30%		
Ellworth Community	Elk Mound Area	34%	60%	40%	1112	
Elmwood	Elkhart Lake-Glenbeulah	38%	70%	30%	450	\$30,000
Erin 15% 50% 50% 220 \$30,000 Fall (New 27% 50% 50% 769 \$30,760 Fall (New 30% 60% 40% 769 \$30,760 Fall (New 30% 60% 40% 523 \$30,000 Fall (New 30% 60% 40% 523 \$30,000 Fall (New 30% 60% 40% 523 \$30,000 Fall (New 30% 617 \$30,000 Fall (New 30% 617 \$30,000 Fortana J8 26% 60% 40% 153 \$30,000 Fordana J8 766 Fall (New 30% 617 \$30,000 Fordana J8 766 Fall (New 30% 617 \$30,000 Fordana J8 766 Fall (New 30% 618 \$30,000 Fall (Ellsworth Community	29%	60%	40%	1743	\$60,000
Fail Creek 27% 69% 40% 769 \$30,760 Fail River 30% 60% 40% 523 \$30,000 Fernimore Community 45% 70% 30% 765 \$30,600 Fernimore Community 45% 70% 30% 20% 617 \$30,000 Fordaria 32 26% 60% 40% 153 \$30,000 Fordaria 32 26% 60% 40% 1465 \$58,600 60% 40% 1465 \$58,600 60% 40% 1465 588,600 60% 40% 1465 588,600 60% 40% 1465 588,600 60% 40% 40% 538 \$30,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 530,000 60% 538 538 530,000 60% 538	Elmwood	48%	70%	30%	334	\$30,000
Fall River ADM 60% 60% 40% 5.23 \$30,000 Flambeau 71% 80% 20% 617 \$30,000 Flambeau 71% 80% 20% 617 \$30,000 Fortana 18 26% 60% 40% 1.53 \$30,000 Fortana 18 26% 60% 40% 1.53 \$30,000 Fordana 18 26% 60% 40% 1.53 \$30,000 Fordana 18 26% 60% 40% 1.54 \$30,000 Fordana 18 26% 60% 40% 1.665 \$58,600 Gillettinck-Trempealeau 29% 60% 40% 1.665 \$58,600 Gilletta 54% 80% 20% 5.58 \$30,000 Gilletta 55% 80% 20% 5.58 \$30,000 Gilletta 55% 80% 20% 5.58 \$30,000 Gillenton 55% 80% 20% 5.70 \$30,000 Goodman-Amstrong 45% 70% 30% 1.10 \$30,000 Goodman-Amstrong 50% 80% 20% 5.70 \$30,000 Goodman-Amstrong 50% 80% 20% 5.70 \$30,000 Goodman-Amstrong 5.70 \$0.00	Erin	15%	50%	50%	230	\$30,000
Fennimore Community 45% 70% 30% 765 \$30,600	Fall Creek	27%	60%	40%	769	\$30,760
Flambeau 7.1% 80% 20% 617 \$30,000 Portage JB 60% 60% 40% 153 \$30,000 Prederic 56% 60% 40% 153 \$30,000 Prederic 56% 80% 20% 524 \$30,000 Goll-Ettrick-Trempealeau 29% 60% 40% 1465 \$58,600 Goll-Ettrick-Trempealeau 29% 60% 40% 1465 \$58,600 Goll-Ettrick-Trempealeau 29% 60% 40% 1465 \$58,600 Goll-Ettrick-Trempealeau 29% 60% 40% 538 \$30,000 Goll-Ettrick-Trempealeau 59% 80% 20% 589 \$30,000 Goll-Ettrick-Trempealeau 59% 80% 20% 570 \$34,800 Gold-Ettrick-Trempealeau 59% 80% 20% 870 \$34,800 Green-Lake 24% 60% 40% 267 \$30,000 Green-Lake 24% 60% 40% 267 \$30,000 Green-Lake 24% 60% 40% 20% 242 \$30,000 Green-Lake 55% 80% 20% 20% 242 \$30,000 Harrtord-UHS 23% 60% 40% 1511 \$50,000 Harrtord-UHS 23% 60% 40% 341 \$30,000 Herman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Herman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Herman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Herman-Neosho-Rubicon 44% 70% 30% 490 \$30,000 Herman-Neosho-Rubicon 44% 70% 30% 490 \$30,000 Hurtery 51% 80% 20% 546 \$30,000 \$40,000 \$40,000 \$40,000 \$30,000 \$40,000 \$40,000 \$30,000 \$40,000 \$40,000 \$30,000 \$4	Fall River					
Fortana JB						
Frederic						
Gall-Ettrick-Trempealeau						
Gibraitar Area Gibraitar Area Gibraitar Area Gibraitar Area Gillman S9% 80% 20% S89 S30,000 Gillman S9% 80% 20% S174 S30,000 Gillman S39% 80% 20% S174 S30,000 Gillman S39% 80% 20% S170 S30,000 Gillmanton S39% 80% 20% S170 S30,000 Gillmanton S39% S80% 20% S170 S30,000 Goodman-Armstrong S50% S80% 20% S870 S34,800 Green Lake 24% 60% 40% 267 S30,000 Green Lake 24% 60% 40% 20% 400 S30,000 Green Lake 24% 60% 40% S20% S30,000 S30,000 Green Lake S50% S80% 20% 400 S30,000 Harriford UHS S23% 60% S40% S20% S311 S30,000 Herman-Neosho-Rubicon S27% S60% S60% S60% S60% S60% S60% S60% S60						
Gillett 54% 80% 20% 374 33,000 Gilman 59% 80% 20% 374 33,000 Gilmanton 53% 80% 20% 370 374 33,000 Gilmanton 53% 80% 20% 170 530,000 Gilenwood City 39% 70% 30% 7112 330,000 Gilenwood City 39% 70% 30% 7112 330,000 Goodman-Armstrong 45% 70% 30% 110 330,000 Grantsburg 50% 80% 20% 870 534,800 Green Lake 24% 60% 40% 267 330,000 Green Lake 24% 60% 40% 267 330,000 Gresham 55% 80% 20% 400 530,000 Gresham 55% 80% 20% 400 530,000 Gresham 55% 80% 20% 422 330,000 Harrborn-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Highland 28% 60% 40% 341 \$30,000 Horicon 44% 70% 30% 820 \$32,800 Hurstisford 34% 60% 40% 412 \$30,000 Hurstisford 34% 60% 40% 412 \$30,000 Hurstisford 34% 60% 40% 40% 412 \$30,000 Hurstisford 42% 70% 30% 1902 \$60,000 Kewasune 42% 70% 30% 1902 \$60,000 \$40,360 Kewasune 42% 70% 30% 1902 \$60,000 Luda Lac Du Flambeau #1 100% 85% 15% 588 330,000 Ladgrage 59% 80% 20% 233 \$30,000 Ladgrage 59% 80% 20% 20% 339 \$30,000 Ladgrage 59% 80% 20% 20% 321 330,000 Ladgrage 59% 80% 20% 309 \$30,000 Ladgrage 40% 70% 30% 1265 \$50,600 Ladgrage 59% 80% 20% 309 \$30,000 Ladgrage 40% 70% 30% 1265 \$50,600 Ladgrage 59% 80% 20% 309 \$30,000 Ladgrage 40% 70% 30% 1265 \$50,600 Langrage 59% 80% 20% 309 \$30,000 Ladgrage 40% 70% 30% 1265 \$50,600 Langrage 59% 80% 20% 50% 50% 5124 \$30,000 Langrage 30% 50% 50% 50% 50% 5124 \$30,000 Langrage 30% 50%	•					
Gilmanton 59% 80% 20% 374 \$30,000 Gilmanton 53% 80% 20% 170 \$30,000 Gilmanton 53% 80% 20% 170 \$30,000 Gilmanton 53% 80% 20% 170 \$30,000 Gilmanton 53% 70% 30% 711 \$30,000 Gilmanton 53% 70% 30% 110 \$30,000 Gilmanton 530,000 Goodman-Armstrong 45% 70% 80% 20% 870 \$34,800 Gireen Lake 24% 60% 40% 267 \$30,000 Gireen Lake 24% 60% 40% 267 \$30,000 Gireen Lake 24% 60% 40% 20% 400 \$30,000 Gireen Lake 23% 60% 40% 1511 \$50,000 Hartford UHS 23% 60% 40% 1511 \$50,000 Hartford UHS 23% 60% 40% 314 \$30,000 Hillibert 37% 70% 30% 490 \$30,000 Hillibert 37% 70% 30% 490 \$30,000 Hillibert 37% 70% 30% 490 \$30,000 Hurtley 51% 80% 20% 546 \$30,000 Hurtley 51% 80% 20% 546 \$30,000 Hurtley 51% 80% 20% 546 \$30,000 Hurtley 65% 70% 30% 412 \$30,000 Hurtley 65% 70% 30% 412 \$30,000 Hurtley 65% 70% 30% 710 \$30,000 Hows-Grant 46% 70% 30% 1902 \$60,000 Hows-Grant 46% 70% 30% 1902 \$60,000 Hows-Grant 42% 70% 30% 1909 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Lake Geneva-Genea UHS 38% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Lake Geneva-Genea UHS 38% 70% 30% 1265 \$50,600 Lake Geneva-Genea UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 231 \$30,000 Lake Geneva-Genea UHS 38% 70% 30% 1265 \$50,600 Lake Geneva-Genea UHS 43% 70% 30% 1265 \$50,600 La						
Gilmanton 53% 80% 20% 170 \$30,000 Gilenwood City 39% 70% 30% 712 \$30,000 Gilenwood City 39% 70% 30% 711 \$30,000 Gilenwood City 39% 70% 30% 110 \$30,000 Goodman-Armstrong 45% 70% 30% 110 \$30,000 Grantsburg 50% 80% 20% 870 \$34,800 Green Lake 24% 60% 40% 267 \$30,000 Green Lake 24% 60% 40% 20% 400 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Harmon-Neosho-Rubicon 27% 60% 40% 1511 \$60,000 Harman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Highland 28% 60% 40% 341 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 28% 60% 40% 314 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Independence 70% 80% 20% 546 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 42% 70% 30% 1902 \$60,000 Independence 42% 70% 30% 1902 \$60,000 Kewaskum 42% 70% 30% 1902 \$60,000 Kewashum 42% 70% 30% 1902 \$60,000 Kewashum 52% 80% 20% 293 \$33,800 Lafarge 59% 80% 20% 20% 263 \$33,800 Lafarge 59% 80% 20% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1565 \$50,600 Lake Hollombe 59% 80% 20% 20% 231 \$30,000 Lake Hale Hollombe 59% 80% 20% 20% 231 \$30,000 Lake Hale Hollombe 59% 80% 20% 20% 231 \$30,000 Lake Hale Hollombe 59% 80% 20% 20% 231 \$30,000 Lake Hale Hollombe 59% 80% 20% 309 \$30,000 Lake Hale Hollombe 59% 80% 20% 309 \$30,000 Lake Hale Hollombe 59% 80% 20% 309 \$30,000 Lake Hale Hollombe 59% 80% 20% 50% 50% 50% 50% 50% 50% 50% 50% 50% 5						
Glemvood City 39% 70% 30% 712 \$30,000 GOodman-Armstrong 45% 70% 30% 110 \$30,000 Goodman-Armstrong 45% 70% 30% 110 \$30,000 Greentaburg 50% 80% 20% 870 \$34,800 Green Lake 24% 60% 40% 40% 267 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Greenwood 56% 80% 40% 1511 \$60,000 Hartford UHS 23% 60% 40% 341 \$30,000 Highland 28% 60% 40% 341 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 28% 60% 40% 40% 314 \$30,000 Highland 28% 60% 40% 420 \$30,000 Highland 40% 70% 30% 490 \$30,000 Highland 40% 70% 30% 420 \$32,800 Hurley 51% 80% 20% 546 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Hurley 60% 40% 412 \$30,000 Hurley 60% 40% 40% 40% 40% 40% 40% 40% 40% 40% 4						
Goodman-Armstrong 45% 70% 30% 110 \$30,000 Grantsburg 50% 80% 20% 870 \$34,800 Grantsburg 50% 80% 20% 870 \$34,800 Green take 24% 60% 40% 20% 400 \$30,000 Green wood 56% 80% 20% 400 \$30,000 Green wood 56% 80% 20% 422 \$30,000 Green wood 55% 80% 20% 440 \$30,000 Green wood 55% 80% 20% 442 \$30,000 Harrian-Neosho-Rubicon 27% 60% 40% 311 \$30,000 Hillbard 28% 60% 40% 311 \$30,000 Hillbard 33% 70% 30% 490 \$30,000 Hillbard 37% 70% 30% 490 \$30,000 Hillbard 37% 70% 30% 820 \$33,800 Hullbard 34% 60% 40% 412 \$30,000 Hillbard 34% 60% 40% 412 \$30,000 Hillbard 34% 80% 20% 546 \$30,000 Hustisford 34% 60% 40% 412 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 710 \$30,000 Independence 70% 80% 70% 30% 710 \$30,000 Independence 70% 80% 70% 30% 710 \$30,000 Independence 70% 80% 70% 30% 710 \$30,000 Independence 70% 70% 70% 70% 70% 70% 70% 70% 70% 70%						
Grantsburg 50% 80% 20% 870 \$34,800 Green Lake 24% 60% 40% 267 \$30,000 Green Lake 24% 60% 40% 267 \$30,000 Green Lake 55% 80% 20% 400 \$30,000 Gresham 55% 80% 20% 400 \$30,000 Gresham 55% 80% 20% 40% 1511 \$60,000 Hartford UHS 23% 60% 40% 311 \$30,000 Highland 23% 60% 40% 314 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 128% 60% 40% 314 \$30,000 Highland 128% 60% 40% 30% 420 \$32,800 Hurley 37% 70% 30% 420 \$32,800 Hurley 51% 80% 20% 546 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Hurley 60% 40% 40% 412 \$30,000 Hurley 60% 40% 40%	•					
Green Lake 24% 60% 40% 267 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Greenwood 56% 80% 20% 400 \$30,000 Greenwood 56% 80% 20% 242 \$30,000 Hartford UHS 23% 60% 40% 1511 \$60,000 Herman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Hillipath 28% 60% 40% 314 \$30,000 Hillipath 37% 70% 30% 490 \$30,000 Hillipath 37% 70% 30% 420 \$32,800 Hurley 51% 80% 20% 546 \$30,000 Hurlify 51% 80% 20% 546 \$30,000 Hurlify 60% 40% 412 \$30,000 Hurlify 60% 40% 40% 40% 40% 40% 40% 40% 40% 40% 4	=					
Greenwood 56% 80% 20% 400 \$30,000 Gresham 55% 80% 20% 242 \$30,000 Gresham 55% 80% 20% 242 \$30,000 Gresham 55% 80% 20% 242 \$30,000 Gresham 55% 80% 20% 20% 341 \$30,000 Harman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 28% 60% 40% 30% 490 \$30,000 Horicon 44% 70% 30% 820 \$32,800 Hurley 51% 80% 20% 546 \$30,000 Hurley 51% 80% 20% 546 \$30,000 Hurley 60% 40% 40% 412 \$30,000 Horicon 44% 70% 30% 490 \$30,000 Horicon 44% 70% 30% 490 \$30,000 Horicon 44% 70% 30% 40% 412 \$30,000 Horicon 44% 70% 30% 40% 412 \$30,000 Horicon 44% 70% 30% 710 \$30,000 Horicon 44% 70% 30% 710 \$30,000 Horicon 44% 70% 30% 710 \$30,000 Horicon 45% 70% 30% 1009 \$40,360 Kiewaskum 42% 70% 30% 1009 \$40,360 Kiewaskum 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Ladysmith 52% 80% 20% 797 \$31,880 Ladysmith 52% 80% 20% 797 \$31,880 Ladysmith 52% 80% 20% 20% 797 \$31,880 Ladysmith 52% 80% 20% 20% 309 \$30,000 Ladysmith 52% 80% 20% 20% 309 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 744 \$30,000 Lake Holcombe 59% 80% 20% 20% 309 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 744 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 55 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 50% 50% 50% 50% 50% 50% 50% 50% 50% 5	Green Lake					
Gresham 55% 80% 20% 242 \$30,000 Hartford UHS 23% 60% 40% 311 \$60,000 Herman-Neosho-Rubicon 27% 60% 40% 341 \$30,000 Highland 28% 60% 40% 314 \$30,000 Highland 28% 60% 40% 30% 490 \$30,000 Hillbert 37% 70% 30% 490 \$30,000 Hurtlery 51% 80% 20% 546 \$30,000 Hurtlery 51% 80% 20% 546 \$30,000 Hurtlery 51% 80% 20% 473 \$30,000 Hurtlery 51% 85% 15% 238 \$30,000 Exewashum 42% 70% 30% 1902 \$60,000 Exewashum 42% 70% 30% 1902 \$50,000 Kewashume 42% 70% 30% 1902 \$50,000 Kewashume 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 20% 797 \$31,880 Lafarge 59% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 309 \$30,000 Lake Geneva-Genoa UHS 43% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 40% 43% 70% 30% 426 \$30,000 Lake Holcombe 40% 40% 20% 231 \$30,000 Lake Holcombe 40% 70% 30% 95 \$30,000 Lake Holcombe 40% 70% 30% 95 \$30,000 Lake Holcombe 59% 80% 20% 50% 82 \$30,000 Lake Holcombe 40% 70% 30% 95 \$30,000 Lake Holcombe 59% 80% 20% 50% 50% 82 \$30,000 Lake Holcombe 59% 80% 20% 50% 50% 82 \$30,000 Lake Holcombe 59% 80% 20% 50% 50% 82 \$30,000 Luch 50% 50% 50% 50% 50% 50% 50% 50% 500 \$30,000 Luch 50% 50% 50% 50% 50% 50% 50% 500 \$30,000 Luch 50% 50% 50% 50% 50% 50% 50% 500 \$30,000 Luch 50% 50% 50% 50% 50% 50% 50% 50% 50% 50,000 Maple 33% 60% 40% 40% 682 \$30,000 Marathon 64% 60% 60% 40% 682 \$30,000 Marion 45% 60% 60% 40% 682 \$30,000	Greenwood					
Herman-Neosho-Rubicon	Gresham	55%	80%	20%	242	
Highland	Hartford UHS	23%	60%	40%	1511	\$60,000
Hilbert 37% 70% 30% 490 \$30,000 Horicon 44% 70% 30% 820 \$32,800 Horicon 44% 70% 30% 820 \$32,800 Horicon 44% 60% 20% 546 \$30,000 Hustisford 34% 60% 40% 412 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 15% 238 \$30,000 Independence 70% 30% 15% 238 \$30,000 Independence 70% 30% 15% 238 \$30,000 Independence 70% 85% 15% 238 \$30,000 Independence 70% 30% 15% 540,000 Independence 70% 30% 1500 \$40,360 Kiewashum 42% 70% 30% 1009 \$40,360 Kiewashume 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Independence 70% 85% 15% 588 \$30,000 Independence 70% 80% 20% 263 \$30,000 Independence 70% 80% 20% 263 \$30,000 Independence 70% 80% 20% 263 \$30,000 Independence 70% 80% 20% 20% 20% 20% 20% 20% 20% 20% 20% 2	Herman-Neosho-Rubicon	27%	60%	40%	341	\$30,000
Horicon	Highland	28%	60%	40%	314	\$30,000
Hurley 51% 80% 20% 546 \$30,000 Hustisford 34% 60% 40% 412 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 30% 710 \$30,000 Independence 70% 30% 15% 238 \$30,000 Independence 70% 30% 15% 238 \$30,000 Independence 70% 30% 1902 \$60,000 Independence 70% 30% 1902 \$60,000 Independence 70% 30% 1009 \$40,360 Independence 70% 30% 1009 \$40,360 Independence 70% 85% 15% 588 \$30,000 Independence 85% 80% 20% 797 \$31,880 Independence 85% 80% 20% 797 \$31,880 Independence 70% 30% 20% 263 \$30,000 Independence 70% 30% 20% 263 \$30,000 Independence 70% 30% 20% 309 \$30,000 Independence 70% 30% 30% 30% 300 Independence 70% 30% 30% 30% 30% 300 Independence 70% 30% 30% 30% 30% 30% 300 Independence 70% 30% 30% 30% 30% 300 Independence 70% 30% 30% 30% 30% 30% 300 Independence 70% 30% 30% 30% 30% 300 Independence 70% 30	Hilbert	37%	70%	30%	490	\$30,000
Hustisford 34% 60% 40% 4112 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 473 \$30,000 Independence 70% 80% 20% 710 \$30,000 Independence 70% 85% 15% 238 \$30,000 Independence 78% 85% 15% 238 \$30,000 Independence 78% 85% 15% 238 \$30,000 Independence 78% 85% 15% 238 \$30,000 Independence 70% 30% 1902 \$60,000 Independence 70% 30% 1009 \$40,360 Independence 70% 40% 1282 \$51,280 Independence 70% 85% 15% 588 \$30,000 Independent 1 100% 85% 10% 20% 797 \$31,880 Independent 1 100% 85% 10% 20% 20% 263 \$30,000 Independent 1 10% 10% 10% 10% 10% 10% 10% 10% 10% 1	Horicon	44%	70%	30%	820	\$32,800
Independence 70% 80% 20% 473 \$30,000 lowa-Grant 46% 70% 30% 710 \$30,000 lowa-Grant 46% 70% 30% 710 \$30,000 lowa-Grant 46% 70% 30% 710 \$30,000 lowa-Grant 42% 70% 30% 1902 \$60,000 Kewaskum 42% 70% 30% 1902 \$60,000 Kewaunee 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 44% 80% 20% 231 \$30,000 Lake Lana 64% 80% 20% 231 \$30,000 Linn J4 40% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 426 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Linn J6 20% 50% 50% 50% 1524 \$60,000 Lowin J9% 50% 50% 1524 \$60,000 Lowin J9% 50% 50% 50% 1524 \$60,000 Lowin J9% 50% 50% 50% 1524 \$60,000 Lowin J9% 50% 50% 50% 543 \$30,000 Luck Lowal 42% 70% 30% 543 \$30,000 Luck Lowal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luck Lowal 42% 70% 30% 699 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luck Lowal 41% 70% 30% 699 \$30,000 Manawa 41% 70% 30% 699 \$30,000 Marathon City 21% 60% 40% 40% 682 \$30,000 Marathon City 21% 60% 40% 40% 682 \$30,000 Marathon City 21% 60% 40% 40% 682 \$30,000 Marion 45% 70% 30% 699 \$30,000 Marion 45% 70% 30% 493 \$30,000 Marion 45% 70% 40% 40% 682 \$30,000 Marion 45% 70% 40% 40% 682 \$30,000 Marion 45% 70% 40% 40% 40% 682 \$30,000 Marion 45% 70% 40% 40% 40% 40% 40% 40% 40% 40% 40% 4	•					
Iowa-Grant 46% 70% 30% 710 \$30,000 Juda 78% 85% 15% 238 \$30,000 Kewaskum 42% 70% 30% 1902 \$60,000 Kewaunee 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 231 \$30,000 Lake Holcombe 59% 80% 20% 231 \$30,000 <						
Juda 78% 85% 15% 238 \$30,000 Kewaskum 42% 70% 30% 1902 \$60,000 Kewaunee 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladr Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladr Jame 59% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 231 \$30,000 Lake Holcombe 59% 80% 20% 231 \$30,000<	•					
Kewaskum 42% 70% 30% 1902 \$60,000 Kewaunee 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laena 39% 70% 30% 426 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J4 40% 70% 50% 50% 82 \$30,000						
Kewaunee 42% 70% 30% 1009 \$40,360 Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Lacea 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 <t< th=""><th></th><th></th><th></th><th></th><th></th><th></th></t<>						
Kiel Area 32% 60% 40% 1282 \$51,280 Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Lae ana 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lowis 19% 50% 50% 543 \$30,000 L						
Lac Du Flambeau #1 100% 85% 15% 588 \$30,000 Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laena 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lowir 42% 70% 30% 543 \$30,000 Loyal 42% 70% 30% 543 \$30,000 Luck <t< th=""><th></th><th></th><th></th><th></th><th></th><th></th></t<>						
Ladysmith 52% 80% 20% 797 \$31,880 Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laona 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco <td< th=""><th></th><th></th><th></th><th></th><th></th><th></th></td<>						
Lafarge 59% 80% 20% 263 \$30,000 Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laona 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Marathon City						
Lake Geneva-Genoa UHS 38% 70% 30% 1265 \$50,600 Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laona 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Marathon City						
Lake Holcombe 59% 80% 20% 309 \$30,000 Lakeland UHS 43% 70% 30% 744 \$30,000 Laona 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	-					
Lakeland UHS 43% 70% 30% 744 \$30,000 Laona 64% 80% 20% 231 \$30,000 Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Lake Holcombe					
Lena 39% 70% 30% 426 \$30,000 Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Lakeland UHS					
Linn J4 40% 70% 30% 95 \$30,000 Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Laona	64%	80%	20%	231	\$30,000
Linn J6 20% 50% 50% 82 \$30,000 Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Lena	39%	70%	30%	426	\$30,000
Lodi 19% 50% 50% 1524 \$60,000 Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Linn J4	40%	70%	30%	95	\$30,000
Lomira 31% 60% 40% 1125 \$45,000 Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Linn J6	20%	50%	50%	82	\$30,000
Loyal 42% 70% 30% 543 \$30,000 Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Lodi		50%		1524	\$60,000
Luck 59% 80% 20% 519 \$30,000 Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Lomira					
Luxemburg-Casco 17% 50% 50% 1858 \$60,000 Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	Loyal					
Manawa 41% 70% 30% 699 \$30,000 Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000						
Maple 33% 60% 40% 1260 \$50,400 Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000	-					
Marathon City 21% 60% 40% 682 \$30,000 Marion 45% 70% 30% 493 \$30,000						
Marion 45% 70% 30% 493 \$30,000						
	=					
IVIAIRESAII 43/0 /U/0 3U/0 852 \$33,28U						
	iviai kesan	43%	/0%	30%	032	\$35,28U

Mauston	57%	80%	20%	1453	\$58,120
Mayville	32%	60%	40%	1103	\$44,120
Mellen	63%	80%	20%	287	\$30,000
Melrose-Mindoro	44%	70%	30%	783	\$31,320
Menominee Indian	100%	85%	15%	980	\$39,200
Mercer	50%	80%	20%	161	\$30,000
Mineral Point	23%	60%	40%	711	\$30,000
Minocqua J1	41%	70%	30%	599	\$30,000
Mishicot	28%	60%	40%	842	\$33,680
Mondovi	42%	70%	30%	929	\$37,160
Monroe	40%	70%	30%	2474	\$60,000
Montello	52%	80%	20%	731	\$30,000
Monticello	45%	70%	30%	359	\$30,000
Mosinee	28%	60%	40%	2058	\$60,000
Neillsville	44%	70%	30%	956	\$38,240
Nekoosa	54%	80%	20%	1146	\$45,840
New Auburn	54%	80%	20%	294	\$30,000
New Glarus	31%	60%	40%	950	\$38,000
New Holstein	19%	50%	50%	1171	\$46,840
New Lisbon	55%	80%	20%	608	\$30,000
New London	40%	70%	30%	2389	\$60,000
Niagara	60%	80%	20%	343	\$30,000
North Cape	9%	50%	50%	199	\$30,000
North Lakeland	51%	80%	20%	129	\$30,000
Northern Ozaukee	29%	60%	40%	789	\$31,560
Northwood	77%	85%	15%	327	\$30,000
Norwalk-Ontario-Wilton	57%	80%	20%	638	\$30,000
Norway J7	15%	50%	50%	93	\$30,000
Oakfield	28%	60%	40%	507	\$30,000
Oconto	50%	80%	20%	1058	\$42,320
Oconto Falls	34%	60%	40%	1747	\$60,000
Omro	35%	70%	30%	1317	\$52,680
Osceola	31%	60%	40%	1659	\$60,000
Osseo-Fairchild Owen-Withee	46%	70%	30% 20%	910	\$36,400
Palmyra-Eagle Area	60% 38%	80% 70%	30%	506 986	\$30,000 \$39,440
Parityra-Eagle Area	35%	70%	30%	860	\$34,400
Paris J1	19%	50%	50%	173	\$30,000
Parkview	41%	70%	30%	821	\$32,840
Pecatonica Area	32%	60%	40%	425	\$30,000
Pepin Area	30%	60%	40%	266	\$30,000
Peshtigo	41%	70%	30%	1014	\$40,560
Phelps	63%	80%	20%	123	\$30,000
Phillips	51%	80%	20%	767	\$30,680
Platteville	41%	70%	30%	1536	\$60,000
Plum City	58%	80%	20%	253	\$30,000
Port Edwards	44%	70%	30%	477	\$30,000
Portage Community	48%	70%	30%	2274	\$60,000
Potosi	30%	60%	40%	321	\$30,000
Poynette	26%	60%	40%	1068	\$42,720
Prairie Farm	45%	70%	30%	321	\$30,000
Prentice	46%	70%	30%	416	\$30,000
Princeton	44%	70%	30%	386	\$30,000
Randolph	34%	60%	40%	542	\$30,000
Random Lake	35%	60%	40%	821	\$32,840
Raymond #14	9%	50%	50%	339	\$30,000
Reedsville	30%	60%	40%	661	\$30,000
Rhinelander	50%	70%	30%	2481	\$60,000
Rib Lake	45%	70%	30%	492	\$30,000
Rice Lake Area	45%	70%	30%	2299	\$60,000
Richland	58%	80%	20%	1444	\$57,760

Ē					
Rio Community	38%	70%	30%	422	\$30,000
Ripon Area	38%	70%	30%	1620	\$60,000
River Valley	33%	60%	40%	1249	\$49,960
Riverdale	55%	80%	20%	746	\$30,000
Rosendale-Brandon	21%	60%	40%	911	\$36,440
Rosholt	20%	50%	50%	519	\$30,000
Royall	57%	80%	20%	583	\$30,000
Saint Croix Central	19%	50%	50%	1628	\$60,000
Saint Croix Falls	37%	70%	30%	1152	\$46,080
Sauk Prairie	32%	60%	40%	2752	\$60,000
Seneca	59%	80%	20%	266	\$30,000
Seymour Community	39%	70%	30%	2239	\$60,000
Sharon J11	60%	80%	20%	239	\$30,000
Shawano	54%	80%	20%	2522	\$60,000
Shell Lake	57%	80%	20%	623	\$30,000
Shiocton	32%	60%	40%	711	\$30,000
Shullsburg	42%	70%	30%	347	\$30,000
Siren	69%	80%	20%	456	\$30,000
Solon Springs	42%	70%	30%	310	\$30,000
South Shore	49%	70%	30%	206	\$30,000
Southern Door County	42%	70%	30%	1060	\$42,400
Southwestern Wisconsin	41%	70%	30%	566	\$30,000
Spencer	37%	70%	30%	739	\$30,000
Spooner	53%	80%	20%	1241	\$49,640
Spring Valley	30%	60%	40%	772	\$30,880
Stanley-Boyd Area	52%	80%	20%	1111	\$44,440
	23%		40%	239	
Stockbridge		60%			\$30,000
Stratford	24%	60%	40%	893	\$35,720
Superior	51%	80%	20%	4599	\$60,000
Suring	66%	80%	20%	403	\$30,000
Thorp	55%	80%	20%	583	\$30,000
Tigerton	58%	80%	20%	253	\$30,000
Tomah Area	46%	70%	30%	3247	\$60,000
Tomahawk	40%	70%	30%	1165	\$46,600
Tomorrow River	28%	60%	40%	941	\$37,640
Tri-County Area	63%	80%	20%	640	\$30,000
Union Grove UHS	29%	60%	40%	724	\$30,000
Unity	61%	80%	20%	1079	\$43,160
Valders Area	25%	60%	40%	955	\$38,200
Viroqua Area	43%	70%	30%	1129	\$45,160
Wabeno Area	75%	85%	15%	389	\$30,000
Walworth J1	54%	80%	20%	425	\$30,000
Washburn	43%	70%	30%	517	\$30,000
Washington	20%	60%	40%	72	\$30,000
Waterford UHS	20%	60%	40%	1095	\$43,800
Waterloo	40%	70%	30%	820	\$32,800
Waupaca	41%	70%	30%	2171	\$60,000
Waupun	40%	70%	30%	2165	\$60,000
Wausaukee	59%	80%	20%	427	\$30,000
Wautoma Area	55%	80%	20%	1382	\$55,280
Wauzeka-Steuben	62 %	80%	20%	266	\$30,000
Westby Area	39%	70%	30%	1167	\$46,680
Westfield	54%	80%	20%	1168	\$46,720
Weston	59%	80%	20%	295	\$30,000
Weyauwega-Fremont	35%	60%	40%	852	\$34,080
Wheatland J1	40%	70%	30%	458	\$30,000
White Lake	94%	85%	15%	153	\$30,000
Whitehall	50%	70%	30%	789	\$31,560
Wild Rose	53%	80%	20%	577	\$30,000
Winneconne Community	24%	60%	40%	1580	\$60,000
Wisconsin Dells	56%	80%	20%	1797	\$60,000
Wisconsin Heights	27%	60%	40%	806	\$32,240
1					•
•					

Wittenberg-Birnamwood	43%	70%	30%	1131	\$45,240
Wonewoc-Union Center	52%	80%	20%	387	\$30,000
Woodruff J1	45%	70%	30%	437	\$30,000
Yorkville J2	10%	50%	50%	336	\$30,000

st Maximum awards include grant funding in the FY20 biennium and is subject to availablity.